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SHEEL 1,680
SETRY FAT2R 24
7,0003 x2H 10 x128 1,680
02 =224l 310,465 334,295 A 23,830
O1.332LHA 55,800
-&lle32 4,500,000 x12& 54,000
A ERS 150,000& *12& 1,800
O2.49 =4l 249,750
-REIEE IISE HZHI(LNG)
782@ x70m x250 7 x 128 164,220
-HHAAY Y MHHATE ASH
7823 x25M x250 7 x 128 58,650
SREISHIT(IR)
1,400& 804 *2072*12& 26,880
O3. A& &bI%X 4,915
-LES}ETEF HSRAYI 2,853 & 567 m 1,618
-HELSEE A=Kl 2,853& 174 m 497
-St&EZE JIAHEHI KR XY 700,000& *47| 2,800
206 M=t 169,687 134,834 34,853
01 =8l 169,687 134,834 34,853
Ot&Z Z LR & 5,500,000 «4CH 23] 44,000
OstEEES+E HAEE P2
2,350& *1,000kg 2,350
OSIEZ(4J1)BHLXAE A2 ML 123,337
-2J|g=sI] 22 XM 3,300,000& 3,300
-2+ 2L| Ok == (25%) 1,716,000& *43| 6,864
-S& 385,000& *32H 12,320
-6 tEH 10,780,000 »40H 43,120
~EMEX(H L 1,430, 0002 »3CH 4,290
-4 XTEFHD| 214,500 *4H 858
-8 2 X 0| 357,500& =4 0H 1,430
“JtAY2AHE A 1,430,000 »4CH 5,720
-FoHIIFAZFOH WX 11,200, 000& = 1CH 11,200
-CHOI =M= X 26,000,000 = 1CH 26,000
-Ye|ldE(22LIo0tE) 385,000& *3EA 1,155
-HYWE(22L0t8) 780,000 *3EA 2,340
-2 AEFE(RSEME) 120,000& *2EA 240
-22JIZ (RSB EHME) 80,0003 *2EA 160
“EANHSRLE 85,0003 *4EA 340
-6 AR R/V 2H 1,000,000 *4EA 4,000
405 KHAHF SHI 3,800 3,760 40
01 XL 2 ZFH S| 3,800 3,760 40
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AN 0= X0t
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&S HHA=SX XA (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
A2 SOtEOHCIE F
1,300,000& #2012« 123 31,200
ANEULHORE 3 1,100,000& »12& 13,200
CEHEMCIES 700,000& 123 8,400
AHMENLES 500,000& »12& 6,000
AR LZE 1,000,000& 122 12,000
SHMARZ23 700,000& x12& 8,400
“HOHRRE MRA YIABEI
20,000, 000& 20,000
02 =224l 2,418 1,955 463
O1.2Z2SILHA 2,418
“Zjel dEFI AVUWHE DANASE S
sHZ 2,418
Tk 3003 *350=+12& 1,260
S 1,930&+505+12& 1,158
202 odl 2,700 3,240 A 540
01 = LH o4 1l 2,700 3,240 A 540
OZFeI=X =TI
60,000 *3H »32 53| 2,700
301 et A=z 34,400 34,400 0
09 &AL HIZB &S 14,400 14,400 0
OEe Fojele & J1g4al &HItodl
60,000 *40H 2,400
OEXZEO2 & JIEdHA FIH0HI
60,0003 30 1,800
O&el = 2 & JsZIItha &EIHA b
60,0003 x20H x4 4,800
OMS=2HEMA Or2tEWSE &It bl
60,000 35X 2,100
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OXNHLEHMNWA=XES NHE2SF
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OB Es AHE2dY
500,000& x1CH =128 6,000
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AN 0= X0t
HF: HOL=EXNSE(AMISA/FHLHSKE)
&S HHA=SX XA (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
QXS & 18 L LB AH(AISHRAEA})
30,000,000& 30,000
OZESNASI ZUHAAE M
60,000,000 60,000
OXMZOH Atslstn = 15,000, 000& 15,000
OXOHQl LXelAre (er24dl)
300,000 2108 +7& 441,000
OuLsZMHe MEASR 29I 40,000,000& 40,000
OFAFMY % 5 S 2504 29
15,000, 000& 15,000
OOMEMe Ngus(EMA 25) Y
15,000, 000& 15,000
OZMAMSEMO s&EcldH 29
46,000,000 46,000
OXOHEAM OlJtH 0l 2 36,000, 000& 36,000
Ode=sdMe Bldusd 29
70,000,000& 70,000
OXHeIHMES XEA A3 (ZEA)
10,000, 000& 10,000
OFOM g erets (BEH) 20,000,000& 20,000
OL=SXNVZ(WSHM HESO UK)
27,000,000 27,000
308 XX EHH SOl A 37,800 0 37,800
08 WKII20HstE = 37,800 0 37,800
OZXZOHC! HtelAEH LXel AL 37,800,000& 37,800
401 Al HI & 28I 40,000 0 40,000
01 A& HI 40,000 0 40,000
OXNHMZEHAES AIRA E=+=Z A
40,000,000& =14 40,000
NI EHYAIZEHEH 2H<E > 143,500 102,000 41,500
< 26,800
Al 116,700
307 gl2tol & 143,500 102,000 41,500
< 26,800
Al 116,700
11 AIS S RAEE = 143,500 102,000 41,500
OXNMEOHAEHAANLMHSZE 143,500,000 143,500
< 26,800
Al 116,700
2 SISAAMEH 2E<EXR> 188,720 188,720 0
< 56,616
Al 132,104
307 glz2+ol & 188,720 188,720 0
< 56,616
Al 132,104




AN 0= X0t
M DONQU=NET(ASIZST/HAANESTH)
&S HHA=SX XA (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
11T M SRASE EX 188,720 188,720 0
OAlZtE el StsXddYH 29
188,720,000& 188,720
< 56,616
Al 132,104
THBHAXNAME 2Y<EE> 110,000 109,433 567
< 22,000
Al 88,000
307 glz2tol & 110,000 109,433 567
< 22,000
Al 88,000
11T M ZXALSE EX 110,000 109,433 567
OXNEFEHAXNJALH 249 110,000, 000& 110,000
< 22,000
Al 88,000
ZOHQUIDFS ALl 22l A <E > 70,000 54,400 15,600
= 43,750
Al 26,250
307 glz2+ol & 70,000 54,400 15,600
< 43,750
Al 26,250
11T MISRASEX 70,000 54,400 15,600
OZ OIS Atell 22| At 70,000,000& 70,000
< 43,750
Al 26,250
ZOHQDIERNJAEEH 2I<E D> 85,000 192,000 107,000
< 25,500
Al 59,500
307 21201 A 85,000 192,000 107,000
= 25,500
Al 59,500
11 ALSI S XAEE = 85,000 192,000 A 107,000
OHOMeIEXNJAdH2H 85,000,000& 85,000
< 25,500
Al 59,500
ZHAY S X RME YR E> 50,000 35,000 15,000
< 10,000
Al 40,000
307 glz2tol & 50,000 35,000 15,000
< 10,000
Al 40,000
11T M SXAIS EX 50,000 35,000 15,000
OXMUEZSRNAEEH 29 50,000,000& 50,000
< 10,000
Al 40,000
A2 ZO0H el QHOFAFIFA AFE<E Z=> 258,638 250,680 7,958




AN 0= X0t
HF: HOL=EXNSE(AMISA/FHLHSKE)
chel: ZojeIS X X CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 206,911
< 15,519
Al 36,208
307 i+l & 258,638 250,680 7,958
= 206,911
< 15,519
Al 36,208
11T MISXASEX 258,638 250,680 7,958
OAIZEZH0H QI OFOFAMIFA ALY 258,638,000 258,638
= 206,911
< 15,519
Al 36,208
NHEOHS NS XJME 2S<EE> 50,000 50,000 0
< 10,000
Al 40,000
307 21201 A 50,000 50,000 0
< 10,000
Al 40,000
11T AR SXAIEE =X 50,000 50,000 0
OXHMZEH HEXASHXNAEEH 29
50,000,000& 50,000
= 10,000
Al 40,000
LB FAE Y OSKNIFHAH SH<EER> 35,000 30,000 5,000
< 8,750
Al 26,250
307 21201 A 35,000 30,000 5,000
< 8,750
Al 26,250
11T MISRASEX 35,000 30,000 5,000
OLIgHZM AL & OIsXJAHH 23
X 35,000,000& 35,000
< 8,750
Al 26,250
AHMEHATHE AN 2H<E > 35,000 0 35,000
< 10,500
Al 24,500
307 21201 A 35,000 0 35,000
< 10,500
Al 24,500
11T MISRASEX 35,000 0 35,000
OA ML Metadgs 29 35,000,000& 35,000
< 10,500
Al 24,500
AT SEAEHE 2H<E D> 30,000 0 30,000
< 6,000
Al 24,000
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AN 0= X0t
M DONQU=NET(ASIZST/HAANESTH)
Sl FOjeIS T X CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 30,000 0 30,000
< 6,000
Al 24,000
11T M SXASE EX 30,000 0 30,000
OuEFML Setaga 29 30,000, 000& 30,000
< 6,000
Al 24,000
ZOHA=SXNEELM D KNJA<EE> 4,345 4,345 0
< 869
Al 3,476
202 044l 4,345 4,345 0
< 869
Al 3,476
04 = M &t Bl 4,345 4,345 0
OFMe=Xd&8=248 Ml XA 4,345,000 4,345
< 869
Al 3,476
ZOH SOt E X R 19,781,228 18,984,917 796,311
= 13,251,422
< 1,748,534
Al 4,781,272
LLETHEMEABIRLH AR (Z00tS LEMHE MEIA 858,043 822,752 35,291
X & )<e x>
= 600,630
< 77,224
Al 180,189
301 et a = 858,043 822,752 35,291
= 600,630
< 77,224
Al 180,189
01 MEIBEZE 5= 858,043 822,752 35,291
OZ0iots ZEMEMHIA X
858,043,000 858,043
= 600,630
< 77,224
Al 180,189
MASZE0Hel At 2 A AHI X E<E E> 8,950 9,610 A 660
2 4,475
< 1,342
Al 3,133
301 et d = 8,950 9,610 A 660
2 4,475
= 1,342
Al 3,133
01 MEI2BZE 05z 8,950 9,610 A 660
OMASZEO0HQ AEHHl 2 HAH X&
8,950,000& 8,950
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SA Lol
M & ANBIZX/FHSHE )
ool & 2

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

7.475
1,342
3,133

= Hn

Shstm HASHMO 2

A

SHHI K| &I<E £> 16,004 18,103 A2,099

4,801
11,203

= M

301 et d = 16,004 18,103 A2,099

4,801
Al 11,203

H

X =0l= 16,004 18,103 A2,099

16,004,000& 16,004

4,801
11,203

= M

SRINFRI(HFUHAE R T X )<EBE> 9,503 10,040 A B37
7,603

570
1,330

= W

301 et d = 9,503 10,040 N 537
7,603

570
1,330

= W

01 MI28E 6= 9,503 10,040 A537
X7 K& 9,503,000& 9,503

7,603
570
1,330

= W

B+ (OIx) NS<EE> 1,432,176 1,401,664 30,512
897,523
115,396
419,257

= MW

301 2ELE A= 1,432,176 1,401,664 30,512
897,523

115,396
419,257

= 0N

01 AR 2&H =63 1,432,176 1,401,664 30,512
OZMH=ZXAN=x) 1,432,176,000& 1,432,176
897,523

115,396
419,257

= N H

Zo=g (X)) XasS<E8x> 854,958 836,860 18,098
598,471
76,946
179,541

= N H

301 AP A2 854,958 836,860 18,098
598,471
76,946
179,541

= HnH
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AN 0= X0t
FH: ZASNSI(MSISX/HLHEXH)
S ZOHAMEFX R (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 MEIBZE 05z 854,958 836,860 18,098
OFM==Z X2 (xtael) 854,958,000 854,958
= 598,471
< 76,946
Al 179,541
ZOHeIo 2l XIJA<EE> 315,546 366,445 A 50,899
= 252,437
= 18,933
Al 44,176
308 XX EHHSOIA 315,546 366,445 A 50,899
= 252,437
< 18,933
Al 44,176
10 SII 2 SOCHEHE & = 0 & A& I 315,546 366,445 A 50,899
OZoerel=dl XI& 315,546,000 315,546
= 252,437
< 18,933
Al 44,176
HOHQL R K& (SX LRl )<E x> 494,424 440,544 53,880
= 247,212
< 74,163
Al 173,049
307 gl2tol & 494,424 440,544 53,880
= 247,212
< 74,163
Al 173,049
11T M SRASEEX 494,424 440,544 53,880
OFOel=XLXtel At 494,424,000 494,424
= 247,212
< 74,163
Al 173,049
Zoiord el NE (Lers dxtel )<E x> 518,640 828,598 A 309,958
= 259,317
< 77,799
Al 181,524
101 @14l 518,640 828,598 A 309,958
= 259,317
= 77,799
Al 181,524
04 JI12ZtHZ22 a2+ 518,640 828,598 A 309,958
OZoel et ARl XNJAS 518,640,000 518,640
= 259,317
< 77,799
Al 181,524
ZooegsXe SHXH (HHRH™)<E x> 5,509,004 5,349,033 159,971
= 3,856,303
< 495,810
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2M: LolE
X EH: K
(=R B

(=}
ool &

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

Al 1,156,891

301 gEtE A= 5,509,004 5,349,033 159,971
3,856,303

495,810
1,156,891

= N W

ol = 5,509,004 5,349,033 159,971
X

5,509,004,000& 5,509,004
3,856,303

495,810
1,156,891

= Hn W

s 502> 9,189,275 8,797,143 392,132
6,432,492

661,628
2,095,155

= M W

301 YetE A D 9,189,275 8,797,143 392,132
6,432,492

661,628
2,095,155

= M W

=52 9,189,275 8,797,143 392,132
=PAE! 9,189,275,000& 9,189,275

6,432,492
661,628
2,095, 155

= N W

AR b XN (HHLE XA )EE> 2,167 2,206 A39
1,517
195
455

=z o W

301 LELE A= 2,167 2,206 A39
1,517
195
455

= MW

R 2,167 2,206 A39
ocogg X 2,167,000& 2,167
1,517

195
455

= MW

o esE T AXA<E > 402,079 57,400 344,679

120,624
281,455

=

301 et d = 402,079 57,400 344,679

120,624
Al 281,455

H

01 A28 H =0dl= 402,079 57,400 344,679
OFHe s MEIA XIF  402,079,000& 402,079

< 120,624
Al 281,455
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AN 0= X0t
M DONQU=NET(ASIZST/HAANESTH)
Chel:r ROjQI MO & (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 5,591
< 719
Al 1,677
01 MEI2BZE 05z 7,987 12,345 N 4,358
OZZHMC BESEX IS0 (BIRH)
7,987,000 7,987
= 5,591
< 719
Al 1,677
SSEFA HBEIHEXNE (LLEHM 2SFA & 345 1,500 1,155
oI S X )< x>
=2 276
< 20
Al 49
307 21201 A 345 1,500 A1,155
= 276
< 20
Al 49
11 ALS S XAEE = 345 1,500 A 1,155
ORI BBEA AHEDUSK
345,000& 345
= 276
< 20
Al 49
NI L X2l X & (Al M & Xiel )<E &> 134,456 0 134,456
= 67,228
< 20,167
Al 47,061
101 @124l 134,456 0 134,456
= 67,228
< 20,167
Al 47,061
04 JIZHHZ2XNSE+ 134,456 0 134,456
QX Lers ATl XA AL (AIZHA)
134,456, 000& 134,456
= 67,228
< 20,167
Al 47,061
ZOHeIAIE X & 19,219,089 16,568,484 2,650,605
= 6,270,067
< 2,825,309
Al 10,123,713
ZOUAA=AEI SEL<ER> 487,426 0 487,426
= 243,713
< 73,114
Al 170,599
402 RI2HXt20l ™ 487,426 0 487,426
= 243,713
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A LolEoe =X ot
M DONQU=NET(ASIZST/HAANESTH)
Sl FOHOIAI & XI CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 73,114
Al 170,599
02 BIZtXIEANYEX(0OIETHH) 487,426 0 487,426
OESHIIB2 & HA284 L S HIBA
68,326,000 x 1Al 68,326
= 34,163
& 10,249
Al 23,914
OESEMHRISHIIBESAIE Ol &A= ZA
419,100,000 = 1Al 419,100
= 209,550
= 62,865
Al 146,685
ZOHOIAIE X & 239,820 240,360 AN 540
101 2124 H] 38,800 38,800 0
04 JI2ZtHIZ22NEE S 38,800 38,800 0
OZe SESXH MY (odXxte &) 38,800
23 200,000 x20H «9& 36,000
-85 2 20| 140,000& x20H 2,800
201 et 5,520 5,520 0
01 AP 2t 2] d| 5,520 5,520 0
O1.Bt==H| 3,000
“HOHQIAIE YR LBt4=H| 3,000,000& 3,000
O5. 83 &H| 2,520
“HOHQAIE SRFE AZAZEX =4
7,000 *3¥*102L x12& 2,520
202 044l 2,700 3,240 A B40
01 2L I 2,700 3,240 AN 540
OHMAAIE FRFX04]
60,000& »3H *3L 53| 2,700
301 et A= 12,800 12,800 0
01 M| EXEE 4562 12,800 12,800 0
OZMI=X AL 2(0teIote & 2 18I0 A)
20,0003 *320H *23| 12,800
307 212t0| & 170,000 170,000 0
10 Al SEXNANEEHE2IGH EX 22,000 22,000 0
OZOHQl F2HESAIE 2H|(HLIAlY)
10,000,000 = 1JH £ 10,000
OFOMR HFAIE EELHEH X
1,500,000 84 & 12,000
11 A EXAIEEX 148,000 148,000 0
OMAETHO = - HIESAE 0|22 XA
50,0003 70 x12& 42,000
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AN 0= X0t
FH: ZASNSI(MSISX/HLHEXH)
S HOHAAEX A (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZMASXAIE 215 018X K&
3,000,000& 3,000
OFel HE=22E 2 70,000,000 14 & 70,000
OHMe Ols==xeE 22 16,500,000 =204 33,000
401 AIEHI L 2CHEI 10,000 10,000 0
01 A& HI 10,000 10,000 0
OZSSEA ZOHAEHAAIL &=
10,000, 000& * 14! 10,000
ZOHASRIAIE BAX =E<E > 698,400 592,320 106,080
< 139,680
Al 558,720
301 LAz 698,400 592,320 106,080
< 139,680
Al 558,720
01 MI28HE 6= 698,400 592,320 106,080
OFMA=SXAE SAI=E FHXNAS
698,400,000 698,400
< 139,680
Al 558,720
AL HEANEI s EL<EED> 493,405 0 493,405
= 246,373
< 73,912
Al 173,120
401 AIEHIZL 20 183,659 0 183,659
= 91,500
= 27,450
Al 64,709
01 A& Hl 183,000 0 183,000
OXEH0l2Ia PSS & HEFAY
183,000, 000& * 14 183,000
= 91,500
< 27,450
Al 64,050
03 Al 2 THHI 659 0 659
OXEH0I2Ia GMPAIES S RIE HEAY
A& 20l 183,000,000 *0.72/100x50%< & 2> 659
402 RI2HXt20l ™ 309,746 0 309,746
= 154,873
< 46,462
Al 108,411
02 2IZF 2 A EZ (OIS ) 309,746 0 309,746
OBt AESAHET HEEIS ML P2
240,000,000& =14 240,000
= 120,000
< 36,000
Al 84,000
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2N
X ZH -
L= B

el

Off &t 24

=

i
2m

= MW

69,746
34,873
10,462
24,411

=z N H

600,000

540,000
42,000
18,000

600,

000

= HnH

600,000
540,000
42,000
18,000

600,

000

s 2017 %

=34 dAHS0

600,000,000

=z W

600,000

600,000
540,000
42,000
18,000

600,

000

= MW

7,636,519
5,239,981

—

673,711

722,827

7,253,

306

383,213

307 glztol &

= W

7,636,519
5,239,981

673,711

722,827

7,253,

306

383,213

OFMUAANFAILE 2

10 A SXAEZHE2SEHIEX
o
o

7,636,519,000&

= 0 H

o N~

,636,519

,636,519
,239,981

673,711

, 722,827

7,253,

306

383,213

= M

5,000

1,500
3,500

,000

307 21201 &

M

Al

5,000
1,500
3,500

,000

1A SXAIS 2 =
A

OFMAANFAILONER &

W= 5,000,000

H

Al

5,000
5,000

1,500
3,500

,000

O MEAE MBI AXB<E >

= M

31,590

9,476
22,114

31,

980

A 390

307 21201 A

31,590

31,

980

A 390
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A LolEoe =X ot
M DONQU=NET(ASIZST/HAANESTH)
Sl FOjQIAIA K (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 9,476
Al 22,114
11T A EXAIEEX 31,590 31,980 A 390
OZOHQIMEAI A HHI A XS 31,590,000 31,590
o= 9,476
Al 22,114
ZOHQUSHD | HFAE 2H<KEE> 558,000 531,790 26,210
= 106,358
Al 451,642
307 QI2t0| & 558,000 531,790 26,210
& 106,358
Al 451,642
10 A SEXNANEEHESIGH EX 558,000 531,790 26,210
OHMAIHF=AIE S 558,000,000 558,000
& 106,358
Al 451,642
I Z2SMEINE2AEX> 490,000 415,200 74,800
& 92,831
Al 397,169
307 2Iz2t0| & 490,000 415,200 74,800
= 92,831
Al 397,169
10 M SXAANEEHESIGHEX 490,000 415,200 74,800
O ZBZSMEINER2Y 490,000,000 490,000
=} 92,831
Al 397,169
O F2AESAIE SH<E E> 1,233,000 1,064,000 169,000
= 246,600
Al 986,400
307 QI2t0| ™ 1,233,000 1,064,000 169,000
= 246,600
Al 986,400
10 MM SAANEEESIGHEX 1,233,000 1,064,000 169,000
QU F2UHESAIERHE 1,233,000,000& 1,233,000
= 246,600
Al 986,400
>3 EGHEH 2H<EX> 257,000 247,000 10,000
o= 43,690
Al 213,310
307 2I2t0| ™ 257,000 247,000 10,000
=} 43,690
Al 213,310
10 AISIEXAIEEHE2IHIEX 257,000 247,000 10,000
Oxsts9HdH2Y 257,000,000& 257,000
& 43,690
Al 213,310
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SH: oI F Ol = XDt
HF: HOL=EXNSE(AMISA/FHLHSKE)
S HOHAAEX A (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
SIS AHERAESKA<E > 30,000 29,831 169
< 9,000
Al 21,000
307 gl2tol & 30,000 29,831 169
< 9,000
Al 21,000
10 M3 SXNANEHIS2IHEX 30,000 29,831 169
OsSOSE4EAESIH 30,000, 000& 30,000
< 9,000
Al 21,000
SSTHe NEXHEH 2H<E > 166,825 166,825 0
< 33,365
Al 133,460
307 glz2+0l & 166,825 166,825 0
< 33,365
Al 133,460
10 ALSISEXAIEEE2EHEX 166,825 166,825 0
O=SSZMHAXNEXNIMMH 2F 166,825,000 166,825
< 33,365
Al 133,460
HOHIMBOISKRAME SH<BE> 400,000 379,447 20,553
< 80,000
Al 320,000
307 21201 A 400,000 379,447 20,553
< 80,000
Al 320,000
10 M2 SXNANEHE2IHEX 400,000 379,447 20,553
OOl M&0lsKJMMEH 2 400,000,000 400,000
< 80,000
Al 320,000
ZE2ENENMS 2E<ED> 322,000 307,000 15,000
S 96,600
Al 225,400
307 glz2tol & 322,000 307,000 15,000
< 96,600
Al 225,400
10 MBI ZXNANEHI2IHE=X 322,000 307,000 15,000
OZ=FNEN22Y 322,000, 000& 322,000
< 96,600
Al 225,400
ZOHCIEATHEAIE 2H<ER> 2,146,074 1,959,616 186,458
= 343,372
Al 1,802,702
307 21201 A 2,146,074 1,959,616 186,458
< 343,372
Al 1,802,702




2N
X ZH -
L= B

el

o1 & 01 o1 = X ot
HA=SXSA (A SX/HAHNEXH)
OHIAIE X &

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
10 AL SXNAIEEE2EH EX 2,146,074 1,959,616 186,458
OZMAXNATNAL2SE 2,146,074,000& 2,146,074
= 343,372
Al 1,802,702
ZOUISEH2SAMGXIA<ER> 35,000 35,000 0
< 7,000
Al 28,000
307 21201 A 35,000 35,000 0
< 7,000
Al 28,000
10 ALSISXAIEEE2GHEX 35,000 35,000 0
OHMHAEE2SAL XS 35,000,000& 35,000
< 7,000
Al 28,000
ZOHO MWIHISXZAME SY<EE> 208,000 104,095 103,905
= 41,600
Al 166,400
307 21201 A 208,000 104,095 103,905
< 41,600
Al 166,400
10 ALl SXAIEEE2EH EX 208,000 104,095 103,905
OFMATHIIEXN S AL EHESZE 208,000,000 208,000
< 41,600
Al 166,400
O ROHQ DPAFE R OITHA A< X > 50,000 50,000 0
< 7,500
Al 42,500
307 glz2tol & 50,000 50,000 0
= 7,500
Al 42,500
10 ALSISXAIEEE2EH EX 50,000 50,000 0
O JDMAIER0ITFAALS
50,000, 000& 50,000
< 7,500
Al 42,500
FelsEg=EN2 2H<E D> 1,890,000 1,680,000 210,000
< 35,000
Al 1,855,000
307 glz2tol & 1,890,000 1,680,000 210,000
< 35,000
Al 1,855,000
05 RIZHRI &t 3 1,890,000 1,680,000 210,000
OZSANZHAEE=EN22ZE 960,000,000 960,000
< 17,500
Al 942,500
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